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2013 . ‘ Section 1:
PRELIMINARY HIGHER SCHOOL CERTIFICATE Worth 2 marks
. ) : Each question is worth 1 mark

Student Number: _ Fill in the multiple ghoice sheet for this section.

1 P, O RandS are points on a circle with centre O. ZQPR = 40°.

-~ Mathematics  morc =t

C IRC-LE GEOMETRY ‘ ‘What are the values of x and y?

EXtEE‘iSiOI‘I -E ' R ‘ (A) x=40°and y=20"

(B) x=40°and y=4¢®
Assessment 2 (C) x=80°and y=20°
| : D) x=80°and y=40°

General Instructions ' . : 2 PQRS is a cyclic quadrilateral. 4 and B are points on the circle such that / PQA = ZAQR = x° and
- : /PSB=/BSR=)". :

*  Working Time - 45 mins. ' Total marks (17)
*  Write using a blue or black pen. * Section I: 2 marks
. Approved calculators may be used.. - * Section2: 15 marks

*  All necessary working should be shown
for every question.

* Section] use multiple choice sheet

* Section 2 use separate booklets for each
question

Why is 2x°+2y° =180?
v : ) (A) Angles in the $ame segment standing on the same arc are eq',wﬂ.',

(B) Opppsite angles in 3 cyclic quadrilatera] are supplementary.
(C) Angle at the circumference is equal to the angle in the alternate segment
(D) Angles in the same segment standing on the same arc are supplementary.
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Section II: (15 marks) e

. ™
Question 3 ’ ™~

a)

E B

Copy this diagram in your answer booklet P and Q are points on a circle and the tangents to the circle at P and Q meet at S.

In the diagram, AC and BC are tangents to the circle, touchmg the circle at R is a point on the circle so that the chord PRis parallel to O8.

#and Erespectively. ZACB equals50°. Copy the diagram and prove that QP =QR '

(8)  Showthe /. CEF = 65°. 2
(b) Hence find LZEDF, : 1
_ O

b) CT is a tangent to the circle, centre O, touching at P. Quadrilateral P4BC is a thombus and CT'is
parallel to 4B,

In the figure ABM, DCM, BCN and ADN are straight lines and ZAMD = ZBNA.
a) Copy the diagram and prove that ZABC = ZADC

: . b) hence, or otherwise prove that AC is the diameter
(a) Let LABC = LAPC} LTPA = x and prove that ZPOB =2x ) 2

(b) Find the value of x such that POBC isa cyclic quadrilateral.
You must support your answer with geometrical reasons. 2
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